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English 31 o0 | 12 15
L = Sanskui 1 i) 16 19
LUr 60 . 20 23
Sine _ 1 0 el 24 | 27
= ! — Punjabl’7" 730 1 60 28 31
/! B _ Gujarati | 30 a1 | 60 321 35
' (ILI) L“li::gt'" (Only One Language) : 30 61 | 90
As selected by the candidate as Language-11 (other !
than the Lan ¢-[) in the Online A pllcmmn|
Form from IE:a nguages givenbelow: | —
~ _Hindi | 30 61 90 s | 39
= English_| 30 61 | 90 40 | 43 |
Sanskrit 30| 6l 90 44 a7
= Urdu | 30 6l | 90 48 52
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Read the instructions inEnglish & Hindi at Page No. 96, last page of this booklet.



Lenovo
Stamp

Dhruv Vashisht
Rectangle

Lenovo
Stamp

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle

Dhruv Vashisht
Rectangle


|, UwEE: ST2-2015

T U9 : 150 b woETEfy : 2 qve 30 e ' QUi : 150
‘ | wwEEr | S EE
| farwawm F U 3 — < o
M | aver famre et favaror fafirat fremmen, 30 1 30 3 7
() | a1 (Fae v wmm) 30 31 60
airardt gRT waf @I
st Frfefaa wmn ﬂﬂmmﬂ
HAATRT AEEA-9F | 3ifd # & - |
) B 7 3 .= 8 11
| 12 15
16 19
20 23
24 3y
28 31
32 35

(1

36 39
40 43
44 47
48 57
53 56
37 60
61 o4
(V) = o
79 o0
oA
Faet ar et fere fmerss & fo
tma}mﬁ{;*lv{b}?wﬁh ol
= el zr e 11 TE WU 1] § e Steee-a 3 fore ey i <ra -1 g -
: L
m:rmmﬂﬂ;;ﬂaﬁﬂ~ﬁﬁmw(a}ﬂlMW[h]%ﬁmﬁﬂ!ﬂmﬁmwta& _
£ :Emsrhmﬂt: ]

i J o
T il



5T-2
(3)
SECTION —|
CHILD DEVELOF:‘I“EI
ENT AND PED
s wt AGOGY
There are 30 questions in all in this section,
All questions are compulsory,
¥ GUE H Fel 30 uve ¥ |
it v sifrard § |

L, Which of the following is not a characteristic of Dyslexia ?
(A)  Problems with reading accuracy, speed and comprehension
(B)  Certainty as 10 right or left handedness
(E}; E‘élc;;_r rate of writing
ifficulty in learning and remembering printed words
%ﬁﬁﬁﬂ-ﬁ?ﬂ{ {Dyslcxia]ﬂﬁfﬂﬂﬂ%?ﬁ%?' :
(A) 3= sftvrgen, nfg o =ty 53 y
(B) &M 1 352 81w % waim % wrey 3 Frvay

(C) Formt 1 vt
(D) Wﬂﬂﬁﬁﬁ@ﬁﬁ?ﬂﬁﬂﬂﬂﬁ%ﬁﬁﬁﬁ
2. Powerful motivation is effective factor of learning.
(A)  Child becomes healthy (B) Does meditation
(C) Learns rapidly " (D) Feels happy
T AN WhEH 1 e HeE X
(A) 399 @lcish =8 BT L | (BY i Fn e |
(C) ¥y i@ & | (D) wE~ wAE |
3. Craft education be given to _
~ (A) Retarded child ward child
(C) Common child a | child
Feciferea a9 e <) ot e :
(A) WH=Elg aTAF Hf ~(B) ﬁ@%waﬁ%
(C) WH a1e7% &l - ﬁim‘t ?TE?W
4.  How will you eradicate stealing habit of the studen ;
T S T
T S——-
(A) daretel i qriaie et E[B?:; m
qTEAT deht ‘ p o
5 I defnionof eyt e OO
(&) The teaghers" opinion D) The commaniy’s view poi
yfeTaT T @i TEd A & fod 8 (B}Hﬁﬁqﬁﬁwﬁwﬁhaﬁw

Sfiuraet % Ha @i &1 916y | |
© fm i@ aRel (D) ‘tﬁaﬂf*fm’fﬁhm
6 Which is the indirect method of Tension reduc Ilf;ﬁnving i B
- (A) Analysis and Decision (B) S bt
C) Substitution of other goals (D) ¥
%rqﬁﬁﬁqmﬁmaaﬂmmﬁaﬁrmm?m o SN
(A) fazeigor 3w Folg (g; THIE
(C). T& vl = wfaear (D) IR PT.O.
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7., Right '::fChif_'ifﬁﬂ to Free and Compulsory Education Act, 2009 was applied in country
(A) !s. April, 2009 (B) 1% April, 2010
(C) 1 Nnvem'ber, 2009 (D) 1% November, 2010
“'mﬁfﬂ‘iﬁ@ﬂﬁmﬁﬁmmmjm&wﬁﬁﬂlw
(A) 1 a1, 2000 (B) - 1 37w, 2010
(C) 1 75mz 2000 (D) 1 F&wE, 2010

8. I‘!l NCF 2005 the objective of including Art Education in school is
{B) To appreciate cultural heritage,
(B) To develop students, personality and mental health.

Only (A) is correct.

(D) Both (A) and (B) correct.
NCthmsﬁmﬁmﬁ#ﬁwmﬁa}gz}mam%
(A) St forrmm @ wotar s |
(B)  orilt & safirer it arfiver e 3 Farasfir T |
(C) %3 (A) wét & |
(D) = (A) 3tz (B) wdt & |

9. When a test measures an individual’s ability consistently accurately, then that test is
known as
(A)  Validity (B) Reliability
(C)  Objectivity (D) None of the above

mmﬁ%m%@%%m@mﬁwﬁaﬁmtmmmaﬁ_ﬂﬁﬁ |

(A) ayar (B) favamfgar

(C) awifmam ( q F FHE e
1. In the role of measu-rema aw:rview or achievement across g

number of skills.
(A) Formative evaluation

AB)  Summative evaluation

(C)  Diagnostic evaluation (D) None of the above

— ﬁmﬁ%mwgmﬁﬁﬁwwwmmﬁ?ﬁ%p ¢
(A) Fmivmes gegis (B) dTesss qedis

(C)  Frerrends geaia (D) 3 F # HHE 7

1. - Research concerned with social problems carried on by the schoo] personnel to improve

school practices is
(A) Fundamental Research (B) Action Research
(D) None of the above

(C) Social Research
o STt ST FET § at f € a e @ e & ew R F fe

FeTl & QU #q Healferd fear <Tra 2, W%l-.'
(A) Hife SFTEH (B)  foraes e
(C) HI SFIHIH (D) 394 # | i 7
iev t tests can be given in
'??' ::’\c;'hm;‘f:il?; (B) fﬂuf WRYS (C) six ways (D) three ways

g el et < wd
(A) FwERE (B TIFERE () FTWERE (D) dHw@R A

\

e Y
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13.

15.

16.

17

(5) Y
By motor development we mean the development of in the use of arms and legs.
(A) Mind and Spirit (B) Learning and Education
(C) Training and Learning (D) Strength and Speed
A fasr | sE A wiedrat & T @ a8 ¥ sfe s -
(A) TfETss st smem (B) &t i femer
(€) wfereor sz srfiams (D) it i e

“The twentieth century has come to be designated as the century of the child.” This
definition is given by

(A) Murray (B) Adler
(C) Crow and Crow (D) J.B. Watson
vaitell et i AT @ vt e AT & 1 T g @ ¥ of
(A) ;¢ b (B) TEe
(©) wmam (D) st seEE
2 P
This stage is also called a period of Pseudo Maturity.
(A) Infancy ' (B) Childhood
(C) Adolescence (D) . Maturity
¥ a7ereT il et qesql (Pseudo Maturity) 1 59 St st ST & |
(A) VreramEr
(C) fTerwitrasr a
The origin of human life can be traced to
(A) Two pel[s (B) A single cell
(C) Many cells (D) No cell at all
o9 SHterT W1 3R Yerd: "fed &
(A) T =M (B) dei T Hia
(C) & Pm (D) i i
Characteristic is not of infancy.
(A) Rapidity in Physical development (B) Dependency on others
(C)  Full of morality (D) Rapidity in mental activities
e i faear 78 & BT %
(A) it fasere =t digar (B) &l w Fndwan
(Cy Hferherr ot g (D) W ferepra & e

P.T.O.



3 (6)
1?, What is thinking ?
(A) Use of Symbols (B) Use of Language
(C) Perceptual Process (D) Concept Leaming
Frmawmdy
(A) it =1 W (B) T T W4T
(C)- wieaferes wfsman (D) §weay sfumH
19,/ For which category of subjects are the detour problems used ?
(A) Children  (B) Adults (C) Birds (D) Animals
ST T FHES & 39aiT o Ait & waieat & fee fear o @ 2
(A), ==t (B) Wig (C) fafgat (D) W
251- The name of the theory advocating sudden solution to the problem is
(A) Operant learning (B) Theory of insight
(C) Trial and Error theory (D) Conditioning
THE & 3T UMM H ahed 1 a5 Fera ST e,
(A) whwaTens Hfam _(B) gz = fagra
(C) weaet ud e =1 fagr= (D) 3FEeA
21. “Sensation is a gateway of knowledge " This statément is
(A) Mental Development (B) Physical Development
(C) Attention Development (D)y Language Development
“FATAT I i Ugell digl § 1”4 dh
(A)y wrfae fase & | wa A
(C) &9 &1 fash & | (D) ot & faswE &
22. Which of the following is the correct levels of learning ?

(A) Facts, Knowledge-how, Information, Comprehension, Wisdom.
(B) Facts, Information, Comprehension, Knowledge-how, Wisdom.
(C) Facts, Information, Knowledge-how, Comprehension, Wisdom.
(D) Facts, Comprehension, Information, Knowledge-how, Wisdom.

e d | HH e F IR e ?

(A) o1e, 3 WIS S, G, Y, I
(B) e, eI, S, T U1 T,
(C) . T, T, S A LA, G, T
(D) e, &, T, S 0T HEI, W

Change in behaviour due to maturation etc. is also called learning. -

(A) No (B) Yes (C) Undecided (D) Sometimes
Wmﬁﬂmﬁmqﬁaﬂqaﬁﬁmmmh
(A) T /(B) # (C) e (D) =t
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25.

26.

27.

28.

\N

30.

)] \ Y
‘What is the number of persunahty traits analysed by Cattell ?
(A) 13 (B) (C) 16 (D) 14
oot gr favelfoe fed md ﬂﬁﬁa itergor =t m ﬁ?ﬂq‘r ¥
(A) 13 (B) 15 (C). (D) 14

Murray created the history by constructing a test, what is that ?
(A) Ink Blot Test (B) Sentence Completion Test

{C} Thematic Apperception Test (D) Rating Scal

A U i ) v e ghoe 1 R, aw g o
(A) = e Ty (B) @ fer adpeor
(C) - Forwm axresate wdteror (D) TeieT A

The Practical Intelligence is called
(A) Concrete intelligence
(C) Cognitive ability

(B) Abstract intelligence
(D) Social intelligence

SHEEIF gha it Her A &

(A) T afe (B) 3md I

(C) ws=emss argar (D) wmfes i

The number of factﬂr-". c-f intelligence according to tridimensional theory is
(A) 90 110 €y 135 (DY 120
g&r%ﬁmm%m@ﬁﬂﬁ%m T HEAT &

(A) 90 (B) 110 (€C) 135 (D) 120

The object in the environment which an organism fries to attain is called

(A) Reinforcement
(C) Stimulus

P

ufay #t % e 9ot 9re A S wEr sl

(A) waEeH (B) W=

(C) e (D) Wi

In Individual difference we find

(A) Variability (B) Normality

(C) Both(A)and (B) (D) None of the above

AT 9% | &9 9T &

(A) . fagersieer (B) e

(C) « 3 (A) 3 (B) (D) 9w & &

Meredith's study has shown that children of those families are in general which are

at a higher social level.

(A) less healthy and developed (B) more healthy and developed

(C) more healthy but less developed (D) not healthy but develo
wifey & g & HMT W HE jﬁﬂﬁ ﬁ;mzrmg LI N 0 A
it g e A SR )
(A) =9 = wd famfaga AB) 3u® @ ve fawfaa
(C) sifver = vd =y famiag (D) ¥ T8l w{ fasfaa
P.T.O.
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@ueg -l
yreT - |
fit
aEvEd Fw 30 T E |
avft o e & |
?:}/ wwmmmﬂ&;ﬁﬂwﬁmwm%r“
(A) 3 o (B) T AT
(C) Frffess @ (D) WA ar=T
32, i rEd S YE S FE =
(A) e e @ (B) et e A
(€) sHFTH (D) Tal wIHE
33., ‘HrEele e frwa wIE 7 ¢
(A) W (B) fem
(C) @ (Dy- F=¥ |
I
34, Yeadt oy o ) F A W T AHAE T
T (A) UmEIHE B)
(©) TnfEE a
35, Fearer S HfeE TEFIE?
(A) =9 AB) #=H
(C) FaIH (D) ®iE @ |
36. o e 3 Ford eren e fon v &, 2% A A O B 8, A A FEOTAT :
© (A Ey T Y 7
(B) fergarirg i
(C) T |
(D) forame W 1
37. e tegor Frfor o e A A H I
(A) Wﬂmﬁﬁgmﬁmmm|
(B) nﬁﬂﬁmﬁﬁﬁ&ﬁmi J
(€) _Jsﬁfﬂﬂﬁﬁ:lﬁﬁﬁ'ﬁtﬂ'ﬂfml {
(D)/ ¥ & | f
i i el ALt et s i 9 5 O < 9 e 7 '
(A) - 91-100 (B) 81-90
(C) 90-100 (D) 71-80 ;:

\




39 foreqor 1 3LVT &

(A) ST I et B T T
(B) o & v v 300~ HTT |

AC) Bt 1 fregd gt o |
(D) i iy s 3 A BT
40, data s (CBSE;#fmaﬁmﬁﬁﬁm‘qﬂm#mﬁﬁwqﬁﬁmmmﬁ%? P

(A) @ 2010-11 (B) & 2009-10
(C) a4 2009 (D) @ 2008

ﬁﬁhfﬁﬁﬂﬂhﬂ;mnwmﬁwuﬁﬁﬁﬂ?mﬁh?:
Hﬂﬂf@ﬂ?mﬁﬂﬁrﬁmﬁ#maﬁwmmﬁmﬂﬁﬁ,ﬁﬂﬁ?ﬁmmwm?ﬁq

s@MIfas R I 1 B ma:aﬁaﬂaaiﬁlmmﬁﬂiﬁ#ﬂﬁmﬁﬁaﬂﬁmm
wifeq Jiﬂfﬂqﬁmﬁﬁ?ﬁiﬁﬁ.aﬁﬁﬁﬁmaﬂrmﬁﬁaﬁmﬁﬁfﬂaﬁmmﬂﬁq | &1 T
mwﬂmt,mﬁmf@m#ﬁﬁmﬁtmmmﬂﬁmﬂmﬂmﬁa
G| |mwaﬁmﬁlw%w@mﬁmm,mw | 3 O R e wared
& feu wmfe = Tean | & e fara o |3#Wﬁm%mwmﬁﬁmquﬁml
T e gad o fard & T ﬁrﬁﬂﬁhﬁﬁmﬁﬁlﬁmm'wwqﬂﬁm | T FHIT

ﬁﬂm%mﬁﬁmﬁﬁmtl wiiedratt @ aﬂvﬁmmmwhmﬁm%m
aﬁmﬁn%aﬁrﬁﬂﬁw%’hﬁﬁw daa
41 ﬁﬁﬁnﬁwﬁnﬁﬁﬂw%ﬂﬁ%? \
©A) nivitst 3 g faers e |
AB) e e § T B |
(C) ﬁmﬁaﬁmmm%n

(D) & 3rgd fadia 9 |
42 mﬁmﬁﬁﬁﬁwﬂ?m?“ W
;(A) (B) %%
() faers (D) i
?‘ ﬁﬁﬁﬂqmmﬁﬁ:ﬂwwﬁ?? / '
(C) EEER (D) o
44 o o T | R
(a) it 3w (B) WA FC 3T
(D) I 3R &
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45. /%1 9 Pt Pt o e s g 7
(A) =maEt @ & (B) e sl
(©) w3 sy @) e

Frefefes v = wwcra g 46 § 50 % % I gT :

e S ST e i ) e e | o e & o g e g ol
W e 7 e v Iﬂmﬂwﬂﬁmﬁhﬁmﬁfmﬁaﬂaﬁﬁwm | 8 FHAL
3 % U5 W g -0 3 et ol R e | et i e W 9g 48 STl | @ T
T W e i Rt <tedl 3 d e A | o T o g d & A 98 A | @ A 3 98T
B T T A | IR R e @) s e st e & | o 36 o ot I AR
ST T OIS ¥ |

46, A WMAm AR AL L |
< (A) Tem (B) UgrE !

(C) 5= (D) dud
47, A W IR H W F W R R ) e A e e g e |
"(A) TEE &) s
(C), =Em (D) &= .{
48 'Wwﬁﬁﬁﬁﬁ@ﬁ#?ﬂ%@#amwh-, |
(A) WEF A | |
(C) =yl 9a (D) HE~ Y
49. 7 | o viex Fagd fowst g sy fom ferdt ot wRfeafa & = agemr | -
T(A) FeE AB) UF
(C) B (D) faf
50, el A e A AT | |
(A) IHE (B) amem
(C). & (D) =Rl
51. « SyTqpT A S E 1 - 9F A R e g
(A)¢ TeDmETaH (B) ﬂiﬁﬁﬂ?
(C) forgr (Fe=d) drEF (D) Wehearas p .‘
5,/ =mﬁﬂmmwmwﬁl‘-wmﬁmﬂmﬁ / g
" (a) P ®) g
(C)/ I (D) & %
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(A) faarmEius (B) faurmd=
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(A) I & 76 aret S U B 8 |
(B) I # TeT AT TEafEa e € |
(C) ¥M™ W | $8-1-99 Teas il ¢ |
(D) Waar § wife &t & |

Cym A fra FvERE
Ay @ (). X
s i o e S R w T E

(A) 9, T, ferea, St

(B) siern, fae, g9, We
(C) T, atere, qeT, fera a a

(D) I

F

- ey fereror % fagra &

(A) wom =1 fagr=

(B) feran g1 dia &1 faaTd
(C) witaa & wire & fagra
(D) 3% @l

s <age (e Fr o T ww R
(B) fafr & ad=t =1 wél T HUHT
(C) ¥r&g TFAT &l A HAH

__AD) 35 T UHH |

60.

T fior % @A FAEAE
(A) U

© /. (D) ¥

P.T.O.




Y (12)
SECTION - 11
LANGUAGE-I
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

31, The best sequence for learning English language is
(A) Listening, Speaking, Reading, Writing.
(B) Speaking, Listening, Reading, Writing.
(C) Listening, Speaking, Writing, Reading.
(D) None of these.

32. A language has to be
(A) Phonetically correct (B) Grammatically correct

(C)  Alphabetically correct (D) Systematically correct

33. Flash cards are useful type of

(A) Audio-visual aids (B) ~“Audio. aids
(C) Visual aids (D) None of these

34. A good téxt-book of English shotld d d
(A) Reading material ; t strations
(C) Cultural content (D)  All of the above

35, Itis of great utility in teaching English pronunciation,
| (A) Epidiascope (B) Films
(C) Linguaphone (D) Radio

dccent and intonation,

: 36. Latest scheme of evaluation outlined by the CBSE namely
(A) Comprehensive and Continuous Evaluation

(B) Continuous and Comprehensive Evaluation

(C) Continuous and Communicative Evaluation

I (D) None of these

37.  To cover all course in minimum time, which type of question should

be asked 2
(A) Short answer (B) Objective type
’ (€ ESS&Y type (D) All of the above
38. Unit test is an expression of
(A) Effective Evaluation (B)  Formative Evaly stion 1
(C) Summative Evaluation (D) Normative Evaluation g

c
——

-
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39.

40.

41.

42.

43.

45.

(13)
Pronunciation of students can be tested through Y
type questions.
(A) Essay (B) Objective A
(C) Short answer (D) All of the above

Oral test and Examinations are intended to test
(A) Reading (B) Comprehension
(C) Expression (D) Allof the above

Read the passage carcfully and answer the questions that follow :
Prose Passage-1 (Q. Nos. 41 to 45).
People in the villages of Rajasthan lead a very simple life. Their way of living has not
lar huts. The walls of these huts are covered

for worship. The life of these people is full of
nters. Water is 2 major problem.
ter. For their agriculture
to face difficulties

changed over the years. They live in circu

with cow-dung. Every hut has a small place
hot in summers and cold in Wi
get drinking wa
They have leamt
women like to wear dresses

difficulties. It is very
ave to walk a long distance 10
ry brave.
their life.

Sometimes they h
d on rain. But these people are Ve
They also like to enjoy
n villages in Rajasthan have
.of their_culture.

they depen
and they never lose hope.
full of bright colours. People living |
and dafice. The people of Rajasthdiiame ¥ ey prouL

which of the following words 15 a ¥ nymy for ‘brave’ 7
(A) Hardworking a Sperous
) thusiastic

(C) Valhant

a rich tradition of music

The antonym © f *bright’ 1s
(A) Colourful (B) Dull
(C) Transparent (D) Dark

0

is correctly spelt

Which of the following words -

(A) Immediate (B) Imnmrc:dmlc

(C) immedieta (D) Imediate

“Their way of living' can be replaced with the wrc-rd‘

(A) livelihood (B) |!"~'¢lmﬂS$

(C) lifelike (D) lifestyle

Find the correct 0n¢ word for the phrase given below:

‘Countryside of a nation’ ) Ui "
[nhabitants Pi"l'.l

ural
(A) Rurt (D)
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(14) .y
: -2
ead the passage and answer the questions that follow : ;

Prose Passage — || (Q. Nos. 46 to 50).

Most children start watching television long before they enter school. Many doctors
have come to the conclusion that children up to the age of two years should not watch TV.
The doctors are of the view that the first two years of life are very important for the
development of a child’s brain. Spending time with parents and others encourages

leamning and healthy physical and social development. As children get older, TV can be
watched to a limited extent. Children preparing to enter school can learn the alphabet and
numbers from educational programmes. They can also learn about wildlife on nature
shows. TV can be an excellent educator as well as entertainer for children.

Both the words *Children’ and *Entertainer’ are
(A) nouns (B) pronouns
(C) wverbs (D) adverbs

The verb in the clause ‘they enter school® is in
(A) simple past tense (B) . simple present tense

(C) present perfect tense {[] esent continuous tense
Which of the following has the llgic *sdlhgﬁctive in their correct form ?

(A) Poor, more poor, poorest
(B) Important, most important, importantest
(C) Old, older, oldest

(D) Thin, thinner, more thinner

d thing’ the determiner used is
(B) thing
(D) a

In the phrase ‘a goo

(A) good
(C) athing

Conjunctions in the passage are
(B) about, and

(A) that and
(D) about, also

(©) that, also
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Which of the following sentences ha
(A) How long will you take to ﬁni:ht:fn? r;zcr;s':rumm O question?
(B) How did long you will take to finish your wc.:-rk ?
(C) How long you take to finish your work ? .
(D) How long you will take to finish your work ?

The passive voice form of the sentence — ‘She will write a letter.’ will b
(A) A letter will written by her. | )
(B) A letter will be written by her.

(C) Written a letter will be by her.

(D)  Will a letter be written by her ?

The passive form of the sentence — “Who will help vou 7" will be
(A) By whom will you be helped ?

(B)  Whom will you be helped ?

(C)  You will be helped.

(D)  Whom will be you are helped ?

Consonants sounds are
(A) 26 (B) 24
(C) 27 (D) 32

Phonetic symbols are

(A) 44 4
34y @ adda

Which one of the following is not included under the principles of English teaching ?

(A) Principle of Natural Process

(B) Principle of purpose

(C) Principle of uprooting from culture
(D) Principle of selection

The criteria to choose a particular course for particular class is called
(A) The Principle of Selection (B) The Principle of Gradation
(C) The Principle of Proper order (D) The Principle of Motivation

The unit of teaching in Direct method is

(A) Word (B) Sentence
(C) Phrase (D) None of these

Alphabetic method is also known as
(A) Word method
(C) Spelling method

. (B) Syllabic method
(D) Phrase method

In which method teacher states rules and gives examples 7 o
(A) Inductive method (B) Dedumfv; :ﬂ
(C) Translation method (D) Noneo
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SECTION - 111
LANGUAGE-II
ENGLISH

There are 30 questions in all in this Section.
All questions are compulsory.

61~ Diphthongs are \_~
< (A) pure vowel sounds
(C) semi vowel sounds

(B) pure consonant sounds
“AD) combination of two pure vowels

62.- Which of the following does not have /i:/ sound 2
/ (A) Week “{B) Bean f
(C) Deep (D)  Pretty |

63. - Pick-out the incorrect transcription.
(A) pool /pu:l/ (B) fool /fu:l/
(C) tool /tul/ (D) foot /fu:t/

-ﬁfl. How many fricative sounds are therc

inEaglish %/
(A) R By 7
) 9- (D) o
65, The corregt transcription of ‘thick’
¢ @& ek
(C) /Bak/ (D) /o>:k/

66. . Which of the following is not true of first language acquisition ?
(A) Itis universal.

(B) It is natural.
AC) It does not require formal instruction.
(D) It requires formal instruction.

ﬁ?‘./“:EvaIuaﬁﬂn does not ascertain v
(A) the educational standard of the institution.
AB) the administrative standard of the institution.
(C) the teaching standard of the institution.

(D) the efficiency of the teachers of the institution.

68. Which of the following is not part of the traditional class-room ? g;/ |
e (A) Text-book (B) Chalk !
(C) Computer Network (D) Blackboard

69‘/ " To motivate and create interest among children Harold Palmer does not suggest 4
(A) Competition AB)  Game like exercises
(C) Repetition (D)  Minimum of Confusion

—— |
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72.

(41)
Error correction does not require -
(A) to attend to errors in a sensitive way.
(B) to embarrass the learner though correction.
(C) to develop a task wherein students can use language frame.
(P) to provide good model of an expanded grammatical utterance.

" Which of the following skills will not be strengthened by using text-book as material for

teaching 7 ~7
(A) Effective writing (B) Comprehension skill
(C) Grammar skill (D) Communication skill

One should not learn English because
(A) Itis the language of knowledge.

(B) 1tis window to the world.

(C) Itis the language of British rulers.

“(D) Itis the language of liberal, modern thinking.

73.

4.

15_,-"#
-

The students learn patterns of language by repeating model sentences that teacher
provides. They memorize set phrases and receive positive reinforcement from their
teacher when they perform drills. Thisanethodis .o~

(A) audio-lingual method __B), comumilinicative approach
(C) total physical response (D) the silent way

.-'-d-.

aming

(C) immersion translation method

The students take all subjects in ! . y ‘take part-in_class and school
activities with students of their ag 1 iis approach is
_A{A) task based learning
(D)

“Natural approach of learning language was developed by -

(A) Krashen and Terell (B) Chomsky -
(C) Berlitz (D) Henri Goiuns

Unseen Passage : (Q. Nos. 76 to 80).

First of all, I need work, and a decent wage for my work. Aristotle defined happiness,
not as a sum of pleasures, but as unimpeded activity. 1 want work which is hard but
interesting. | am exceptionally lucky because I can choose my own work to a large extent.

If | want respite from science | can go and be a war correspondent, or write children’s
stories, or make political speeches.

_ 1 require friendship. Particularly 1 require friendship of my colleagues and comrades
in scientific and political work. I want the society of equals who will criticize me, and

whom 1 can eriticize,

P-T-u.
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76, Conjunction i ( ‘/
junction in sentence 3 is
(A) want (B) hard
(S but (D) interesting

?thccrding to Aristotle, happiness is

(A) asum of pleasures (B) unimpeded activity

/C} impeded activity (D) hard work

78.  The author requires friendship of '
(A) political leaders (B) teachers

-

(C) fellow workers (D) young children

79. How many comnectors are there insentence 52

“1f | want respite ... political specthos:”

) 2 (B)
@ acda

80. Why does the narrator want work ?

‘ (A) To get decent wages (B) To make friends

(C} To get happiness (D) To write children’s stories

Read the Poem carefully and answer the following questions : (Q. Nos. 81 to 85).

l When to the sessions of sweet silent thought,
! | summon up remembrance of things past,
| | sigh the lack of many a thing 1 sought, .

And with old woes new wail my dear time's waste;.

\ Then [ can drown an eye, unused to flow,

For precious friends bid in the death’s dateless night,’

| And weep afresh Ep_vc‘s long-since-cancelled woe,

And moon the expense of many a vanished sight.
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(43)
31 ‘sessions of sweet silent thought” is an example of

“ AA) alliteration

(B) assonance

(C) imagery (D) simile
(32. The rhyme scheme in the poem is )
(A) abba " (B) abab
(C) baab (D) bacd
83. Which of the following words taken from the poem is an example of personification 2. ,
~ (A) eye (B) time
(€) love's (D) moon
84. Pick out the correct example of metaphor.
(A) eyes like two lamps ~~(B) the ship of life moves on
(C) rosy lips and cheeks (D) as white as snow

85. What is hidden in *death’s dateless night’ ?

poct

eyu
QIa
must

upon
at

(A) beloved {B}
© friend
Sﬁ,f Fill in the blank with an appmpna
HeisilL He  seea duct
(A) can
(C) could (D)
87. - Fill in the blank with the appropriate preposition,
- He is angry me. JQ‘
_AA) on S (B)
(C) with —~ (D)
88, - Elegyisa {5/
= (A) praise of a political leader. (B)

(C) evaluating the work of people. (D)

89, The subject matter of this sonnet is |

(A) biography of a person ~(B)
(C) love (D)

.99 Drama differs from poetry as k//
(A) it has metaphor. AB)Y
(C) it has rhyme scheme. (D)

lamenting the death of a dear one.

eulogizing the birth of a child.

courage
revenge

it has action.
it is always written in stanzas.

P.T.O.
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SECTION — IV / @UE — [V

In this Section, there are 2 sub-sections i.e. IV(a) Mathematics and Science and IV(b)
Social Studies. Both the sub-sections consist of 60 Multiple Choice Questions each.

The candidate has to choose either 1V(a) Mathematics and Science OR IV(b) Social
Studies as selected in the Online Application Form and answer all the 60 questions.

79 @vE H 31 I9EUE 3t 1V(a) T wur fame o 1V(b) wrfaes speg= & | B I9@vet
% Wedsh | 6 FglaseTy weT & |

aiteredt et W{a)nﬁmmﬁammlwb}mmhﬁm,hmwmmm
3 o &, 3 @ Frelt U ST@vS F g & wE Wt 60 W F IR AATE |

SECTION — IV(a) / @98 - 1V(a)
MATHEMATICS AND SCIENCE ; Trforer =T fasm=

There are 60 questions in all in this section. The candidates who have selected this subject

must answer all the questions.
=g @ve § Fe 60 T E |%Mﬂ%ﬁ:afddaﬁﬁmmmaﬁ§ t

Bl} _~Nature of mathematics is

Z (A) Itislogical. (B) Itis difficult.
(C) It is ornamental. (D) It is not for average students.
nfod W AFAE - -
~(A) UEdlE®E | (B) TE HiA® |
< (C) T A € | (D) % irwa ferenferal & fem =81 & |

ractice teaching helps ?

92. In which of the following p
ransfer

(A) To increase leamning t 1
(B) To increase understanding solution of the problem

(C) To develop efficiency use of theoretical knowledge

D) To work quickly of any problem
i Tedi FA €

P.T.O.
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(9}/ Importance of Action Mathemancg is !
(A) Direct €Xperience
(B) " Leaming by self doing
(€) Tobe Pe€rmanent and ¢jeqy of concepts
(D) All of the above

ULCED ST
(A) w7 3y
) 4 HEF Wiy

(©) RIS % we Td TR gy
{E’} TR ey

94.  Part of language of mathematics is
(A)  Sign (B)  Number-Number variables
(C)  Formulae (D) All of the above
T Bt AT a5y 3
(A) Hae (B) e e o
(C) w= D) 3T ot

95. In which subject importance of Mathieinaties Teaching is ?
(A) Society (B)_ Scignce
(C) Principles and Logics f bove
wiforer feveror =61 ey orear 5 d da
(A) wem (B) fasry
(C) Togr wet ad D) 3 wdt

96.- Suitable method of Arithmetics teaching is

= (A) Project method (B) Demonstration method
(C) Analytic method ._(D] None of these
sigrifores forgor 1 Suge fafw & -
(A) W fafy ) Wer

_ REHE
(C) Feweroo faf S
o S— iectives achieves a teacher in class-room teaching ?

97, Which nbjﬂf?_“’ (B) Affective

(A) Cogmtive

(C) Psychomotor (D) All of the _:ibuve
Us T HeT- I F ferg FovT I W HAT & ?

(A) FHTHS (B) qﬁmﬁ
(C) wAvEEH (D) I
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8. Importance of Diagnostic Test is

(A) inteaching

(B) in counselling and guidance

(C)  in arrangement of remedial teaching

(D) All of the above

e vl &

(A) T a

(B) ety 3y frde

AC)  FTaens o %t sggwn §

(D) Iwde it 4

99.  In Mathematics teaching, main role of Mathematics teacher is

(A) Philosopher (B) Frend
(C) Counsellor (D) All of the above

viforrer fomegor & s 5 e gfew g
(A) wmife (B)
C) W D Ll
(©) " () 3
100. Suitable method of Mathematies teaching is
< (A) Lecturer method (BY Demonstration method

(€) Inductive-deduetive method (D) ghll of ghe above
arfirrer foreqor =1 avger fally &
~(C) s fafe D

101, If{ﬁ}5 x Q=30 J\f_'; then the value of n is

{A) 3 (B) 2

() 5 (D) ©

afir (3)” x 92 = 37 x 33 &, @l n 1 7= w0 E 2
‘ (A) 3 (B)y 2

(C) 5 (D) 6

102, 2x+4y—8xy-1="
(A) (1 +4v)(2xv-1)
(C) (1 -4y)(2x+])
x+4y-Say—-1=7?
(A) (1 +4y)(2x-1) (B) ll:-i‘j]flr:l]
(C) (1 —4y)(2x+]) (D) &9 E FE T

(B) (1 -4y)(2x—1)
(D) None of these

P.T.0.
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103. If 3x + 7y =75, 5x — 5y = 25, then the value of (x+y)=

(A) 17 (B) 16

(C) 18 (D) 15

A3+ Ty =75, 5~ Sy =257 (x + y) A AN

(A) 17 (B) 16

(C) 18 (D) 15
104. What is the value 0f /625 ++/484 ?

(A) 47 (B) 56

(C) 52 (D) 35

A[625 ++[484 =1 o T EWO |

(A) 47 (B) 56

(€ 52 (D) 35
105. Find value of 4/4/0.000729 + /0.008

(A) 0.1 (B) 0.5

(C) 0.06 (D) 0.8

~J0.000729 + [0.008 %1 wrT & [

(A) 0.1 (B) | O

(C) 0.06 (D) 08

106. At what simple rate of interest a su

(A) 11.0%
(C) 12% ( 5%
RO AT i (o6 57 A i vF Q ad H g A A 2
(A) 11.0% (B) 12.5%
(C) 12% (D) 13.5%
107. If(a+b):(b+c):(c+a)=6:7:8anda+b+c= 14, then the value of c =
(A) 6 (B) 7
(C) 8 (D) 14
'\'Ilﬁ{a+h}:{b+c}:{c+a}=ﬁ:‘?:8?lﬂ'ia+b+c=14ﬁ'q'c=
(A) 6 (B) 7
©) 8 (D) 14

ST-2

108. Neena and Meena started a business with investment of ¥ 30,000 and T 45,000

respectively. What will be the share of Meena from the profit of T 1,50,000 after 2 years ?

(A) T 30,000 (B) 45,000

(C) ¥ 75,000 (D) None of these

e a3t o 3 HEE 230,000 T 2 45,000 F FEw ¥ @R oy fR 1 2 @ aw

% 1,50,000 % g o @ Hi=T S 90 41 E0W 2
(A) ¥30,000 (B) 45,000

(C) 275,000 (D) T & & T

i e pa il ot o,
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Eie s :
109. What is the value of 7 % in decimals ?

(A) 0.0005 (B) 0.005
(C) 0.05 (D) 0.5

Zoj, 7 g o= T

(A) 0.0005 ~ (B) 0.005
() 0.05 (D) 0.5

110. The multiplication of the age of Rajeev, before 5 years and afier 9 years, is 15. What is the
present age of Rajeev 7 -

(A) © By 7
() 5 (D) 8
oo i 5 o g g A 9 A A B g I 15 ¥ | T AT Y 2
(A) 6 (B) 7
(€) 5 (D) 8

111. In the given figure AOB is a simple line and OC is incident on this. Ifa: b =2 : 1, then

the value of a is
C

- h
A O
(A) 80° (B) a a
(€) 120° (D)

fed ma fag % AOB % 6i%e & ¢ ford v fao OC amifea & 13 a:b=2: 18 dt asrom

41 g 7
C
b
A B
0
(A) 80° (B) 100°
(C) 120° (D) 140°

112. InaAABCif3 ZA =4 ZB =6 £C, then the value of ZA =

(A) 60° (B) 80°
(C) 30° (D) 40°
frdt AABCH 3 ZA=4 /B=6/CE T LA=7""
(A) 60° (B) 80°
(C) 30° (D) 40°

P.T.O.
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]ﬂ the given figure, O is the centre and ZACB =40°, then ZAOB =

(A) 30° (B) 40°
(C) 60° AD) 80°
ﬁrnﬁmﬁﬁwﬁrhotﬁma03=4ﬂ°.a’umﬂ=

(A) 30° (B) 40°
(€) 60° 1)
y -

147 If the radius of the circle is increased 3 times, then how many times the new
circumference increase from its original size ?

(A) 3 (B) %

() 9 (D) None of these

e 1 it T 3 T e 1 o ol g o @ e v e o
(A) 3 ®) 3
“© 9 (D) wH & B

115. A room is 12 m long, 9 m wide and 8 m high. What is maximum length of a rod that can
be kept in the room ?

(A) 17m (B) 16m
€) 15m (D) 14m

T S 12 . v, 9 o, Gt o 8 o S ¥ | gt afirmem e o # dW @
ET

(A) 174t (B) 167

(€ 157 (D) 14,
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Note : The students (in Lakh) who appeared and ratio of pass and fail in different cities

are given in the following table, Read carefully and answer following questions :

City Applicants in Lakh | Ratio of Pass and fail
A 1.25 a3
B 3.14 323
C 1.08 4:5
D 2.27 [i23
E 1.85 3:2
F 2.73 135

Fordrer - fafvt sl & uws vt § 42t aret sefieand #) gEn (@@l H) 79 39 9" 9 G g

aret @ T fean man & 1 weltifa s w e weEl & g e

T IolZan] w1 W@ | OTH & e £ aTet &
(FTEt ) A
A 125 7.3
B 3.14 P !
© 1.08 415 '
D 2.5 1:3
E 1.85 :
| _F XS ‘

116. How many applicants pass in city E 7

(A) 13000 (B) 1110000
(C) 113000 (D) 111000
ST E § uiten & WG g7 9t Ieftgarl $t de et § 2
(A) 13000 (B) 1110000
(C) 113000 (D) 111000

117. Which city has highest number of failures in exam ?

(A) F (B) C

() B (D) D
qﬂwﬁﬂmﬁﬁuﬁwﬁﬁﬂdﬁﬁﬁmfﬁawaﬁ%?*
(A) F (B) C

(C) B (D) D

P.T.O.
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118,
{,—-—"

: (72)
Histogram is used 1o represent

(A) Non-continuoug

(B) Ungrouped freq uency distribution
(C)  Continuous grouped frequenc}f distribution
(D) All of these

Ha fot waflm ey &
(A) A Filper e dog

grouped frequency distribution

() e i s

119.

120.

(C) = wiiga avamar dzg,
(D) =94 | gt

Note : Percentage of girls in different schools are plotted in following graph. Read
carefully and answer following questions :

ﬁh:ﬁﬂ@ﬁﬁﬁﬁﬁﬂﬁﬂﬁﬁﬁmaﬁaﬁﬁmmﬁﬁmw% | ST | YR
ﬁ'ﬂfﬁﬁﬁa‘ﬁ?ﬁ:

3000 3,99“
i 60 4 " g f 250 el 2250
50 - i Z 2000
:E‘“} ; = T Rooo
330 40 s 1250
E'- 2() - 27.5 5 & H ﬁﬂ
10 -
& : ' ' 5 T U ¥ O & S5 T U
P hfm R School () —s
Sc ferarrer
Total number of boys in school T. (B) 600
:?}J :gg (D) 850
' H BT

fererrera T 4 (B) 600
(A) 500 (D) 850 n
(€) 750 {F

: IPand Q. 4

dents in both schoo
Average number of stu (B) 1575
. gk ot
(C) fegenfigat
T el T

ferarerat P e Q H F B) 1575
(A) 1425 (D) 1625

(C) 1450




122,

123.

124.

(A) Bleaching powder forms
(B) Baking soda forms

(C) Washing soda forms
{D}ﬁaﬁl;ﬂﬂ of Pa%i; fun:;; "
T & I Y W W sHtvfoman Fitd A

(A) fatuw gof e i ke R =
[B} ﬂﬁl‘T’l HIIET CEGI t |

(C) YR WA= M |

(D) o=z 3w g amar &

Who is Father of Biology ? 5.,»/

(A) Lemark (B) Anstotle

(C) Theophrestus (D) Charls Darwin
i fas & sw e £ 0

(A) _AB) 3w

(C) Taamhes (D) e =fam

Which one ofthe following activity.isaction verbs ? tes—"
(A) To see (B) “Tounderline

(C) To listen D) foknow

fr= & | & =t e wgeEs e o

(A) ZEAT )
(C) (& a

“Science is an attempt to make the chaotic diversity of our sense experiences correspond
to logically uniform system of thought.™

Above mentioned definition of Science is given by

(A) W.C. Dampicr (B) Albert Einstein

(C) Pt J).L. Nehru (D) 1.B. Conant

wgort 3 pifedl @ anaer fafr= oo gl faareore B 9 % e @@t
fam s 1"\~

farsir=r 1 e o &
(A) sEg SR (B) st s
(C) | AU TeE (D) st FE=
ic is Child centered 7 s
::TLI;TD;:;:tMn’mlhﬂd (B) Problem solving method
(C) Laboratory method (D) All of these
o o a1 Hred oy § 7
(A) wiee fafu. (B) wwea-gamH fa
(C) waemen faf (D) ¥ & =it

T2,



T

¥

; (74)
i ETJ i ;fhﬁe:a 'T]mmmy ofteaching objectives 7
(C) BsS. Biw:ner (B) N.E. Groundland
R % e (D) Herbert Spencer
(A) Tt T RE?
©) (B) w3 wEzsve
* R (D) & w

12}"'Fathl:r of Branchj
INg program i :
(A) BF. Skinner Sreimed instruction,

(C)  ThomasF. Gilbert ;
Wﬁhﬂﬁ%ﬁm G . u(? Thormdike

(A) T i (B) AU wr3er v
(© g v, frewt (D) eitem

128. Which one of the fo

llowing is co-curricular activity in Scien
(A) Black Board 4

(B) Science Fairs

(C) Text-Book D) Audio-Vi :
mﬁﬁ%ﬁﬁmmm&é@; dlﬁ‘;’l;pﬁmds
(A) vammg (B) fasm stemr |
(C) dearss (D) == el

129. Which of the following is an Audio Aids 2 A

¢ (A) - OIHEP, a:dﬁ

(C) Gramophone Ia
=1 o & i 9t wrer w0 .
(A) au=d, (B) fa= fawme 43
(C), T (D) Ty

; A
}3‘0: Main purpose of Evaluation is b

to set question paper only s
:_E g; tg knnﬂv learner’s performance and bring improvement
(C) to maintain discipliric
(D) to conduct examination only
i 1 g R &
(A) Fad VeA-99 098 HEA |
(B) afenmoeel S I AT T AR |

(C) FFaTET a4 T |
(D) haet T HE |
- al teaching? v~ .
131. ose last step {:{5] ;';emed:al t:achm%B] fspredvedil
(A) Inquirym (D) None of these

i stic teaching
(C) Daagno : Eey
(A) g1 e o
(c}/ fgrenes fregor

(B) Norman A. Crowder

ce teaching ?

g
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132 Which of the following body part of plant i 19
¢ (A) Gamete -y G(I;]]Eml’lli:ae[:mm e
(C) Ovary (D) Anther
ferAifeRa o & O o1 S |1 AT ST g & 2
(A) TP (B) =
(C) Hv=RE (D) THRFTEH
13.3_. Which of the following bacteria is beneficial for mankind ? ~
< (A) Streptococcus (B) Salmonella
[C]_ Penicillium (D) Aboveall
Forifera stamupait & & wra s & fag ek € T
(A) WEHTT (B) @l
(C) Ueifaferan _{D) Erecakil

E,Sai. Gastric juice contains e
(A) Pepsin, Lipase, Renin
(C) Trypsin. Pepsin, Renin
e T H #i &
(A) e, wEts, 3
(©) Fefw AR, RIEE]

135, Which of the following 15 a micronutrient fofiplan

(A) Sulphur

(C) Magnesium

reifa T & Wl & feg i
(A) TR (TT9)

(C)

(B) Trypsin, Lipase, Renin
(D) Pepsin, Trypsin, Lipase

(B) fofar, wede, 3
(D) A, ffem, s

?

5

€7 Ui
s
(D) THERTE

136, Which cells synthesize and secrete testicular hormones (androgens) in man ?\r«,

(A) Sertoli cells
(C) Spm‘mamgnnia

o § $H
(A) TREH BiterehIL

()

137.” The approximate temperature 0

+ft aifeoras guita &g

(B) Mucus cells

D) Leydig cells
[ i v FEoT L & 7

fthe body of a healthy person is v—"

7 (A) 37°C @) 37K
Ec; 37F (D) 37R
ﬁmmqﬂﬁmﬂrwmwm?

(k) 37l (@) 37%
(D) 37T

P.T.O.
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e {1;: is ﬁoq;ual to how many dyne » (76)
1 ]
() 103 (B) 105
U Y o w3 (D) 106
(A) 104 ™
() 108 ‘:g] 105
) 100

139, Which m
od ~ ;
(A) Cnndfﬁ?ﬁi}:ansmnahun of heat is essentially not required the medium ?
() Radiai; (B) Convection
-y (D) Al not required.

ﬂﬁaﬁqﬁm%ﬁ%ﬁmmﬂmaﬁmaﬁm&h " 1
oy (B) wawa

il (D) &t 1§ sqravgaan =@

3 : b, - L ¥ed gas 1 kﬂ:ﬂ dﬂu‘.h

(A) 996 m/s (B) 664 m/s
(C) 166 m/s (D) 332m/s
Eﬂaﬁﬂﬁnn: Hier i Heve il e & eerw eEr st faar o at @ an
(A) 996 uf Ssve (B) 664 Her oft Aeve
(C) 166 HeT ufe T5us (D) 382 iy ufe d=ve
141. The escape velocity from the suadﬂa
(A) 11.2km/'s (B) 11.2m/s
(C) 11.2cm/s (D) 11.2mm's
gﬁl%qﬁﬁuﬂméﬂwm%

(A) 112 fwemdier afa #Fvs 4B) 1.2 He uf dwvs
(C) 11.2 @<t wia #@0E (D) 11.2 eitter fa dwve

142. Natural fibers are ™ -

~ (A) Cotton (B) Wool
¢ (C) Silk (D) All
e 19 € v
(A) FTE &

Composition percentage of Ca0 and Si0, in Portland cement is v

40-45% and 10-15% (B) 85-90% and 40-45%

- (]
%, 60-68% and 17-24% - (D) 34%; and 80-90%
nidgs dHvE St Si0, 1 wae Hferewt
e 15% 2 (B) 85-90% 3ftT 40-45%
(A) 40-45% - (D) 3-10% 3 80-90%
(@ 60-68% 3T 17-24%
i i

B




145.

ST-2 (77)
8421. Examples of Web Browser are
(i) Mouzilla _ (ii) Opera
(iii) Netscape Navigator (iv) Netscape
(v) Internet Explorer (vi) Mozilla Firefox
(A) (i), (v) & (vi) (B)  (i1), (iii) & (iv)
g_;] (1), (11) & (i) 5 (D) All of the above
AII o TR &
(i) T - (i) 3T -
(iii) HeEhy Aaiier (iv) Hewha
(v) = TEEART (vi) wifeer wrETEE -
(A) (i), (v) 3 (vi) (B) (i), (iii) 3 (iv)
(©) (i), (i) 30 (iii) D) Ifw it
Asteroids are found in between the orbits of
(A) Saturn and Jupiter (B) Mars and Jupiter
(C) Earth and Mars (D) Saturn and Uranus
e{EuE e 1 Fensl & dtg § A oo
(A) ¥ ud gewfa o _(B) e U gEwiT 9w
(C) gl Ud HTe U (D) ¥ ud gi=H UF

146.

147.

SONAR is used for
(A) Measuring distance, direction and velocity of objects in water.
(B) Measuring distance, direction and velocity of objects in air.
(C) Measuring distance and direction of objects imwater.
g::}' Measuring direction and velocity of objects inair
% fow oA Tt e | o e E

_AA) et o fm foosi 8 g, fren e e v @ fer

(B) g e fvet =t g8, fewn vd
(C) vt A feeet ot it gft ud v
(D) arg # fed faust =i feem va =

Which of the statements about the reaction given below are incorrect ?

2PbO,,, + Cpyy — 2PbS,, + COy

(1)  Lead is getting reduced. )

(i) Carbon dioxide is getting oxidized.
(iii) Carbon is getting oxidized.
(iv) Lead oxide is getting reduced. .
(A) (1)and (i1) (B) (1) and (i)
(C) (i), (ii) and (ii1) (D) All

et & ¢ spfafmar & Hed H B W HET HEA &2

2PbO,, + Cqy— 2PbS() + COxg

(i) o sgafad @ w e |

(ii) @ SrEsitEETES SUar & W
(iii) e Ity & wWE |

(iv) s RS S # @ | '
(A) (i) Td (ii) (B) (i) T (iii)
(C)* (i), (it) T (iii) (D)

P.T.O.
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(A) M=Fes0, x -

{B:l M= FEZ{SD¢]3, X =

(€) M= =
FeSO,, X = Fe,0,, Y =50, 2= 50

(D) M= Fe2[504}3 K

I!qqhﬁ'ﬂamuﬁ ? 2

\ . X+Y +F

M =FeSO, X =Fe0, Y =50, 2= SO,

< (B) M =Fe,(S0,),, X = Fe,05, Y =80, Z=H,0
(€) M =FeS0,, X = Fe,0,, Y =50,, Z = SO,
(D) M =Fey(8O,);,X =Fe0,Y =50,,Z=H,0

P F

149. Latent heat of vaporizationis |~ .
¢ (A) the heat energy required to change 10 g of liquid to gas at atmospheric pressure at its
boiling point. ' '
(B) the heat energy required to chifige 1 L of liquid to gas at atmospheric pressure at its
boiling point. ' '
(C) / the heat energy required to chang@ | of liquid to gas at atmospheric pressure at

its boiling peint.
(D) the heat energy require uid to gas at atmospheric pressure at
its boiling point. -
O] & T F 8 '

(A) T @ WE A 10 U g W agAvedE gE i g & aguei 1 e 8 3
ufrad= % % o s wd |

(B) @9 @ °% HET 9 | mﬁﬁmmmﬁﬁwqw'
uftEds e % e AEvaE i w | :

* e e % fe e A :

150. How many number of particles willbe in 8 g O, molecules ? ‘/
(A) 15.1 x 10% (B) 1.51x10%

3 (D) 1.15%x10'3
c) 15.1x10 )
{smmﬂmmﬁﬁuﬁaﬁmﬁ

23
(A) 15.1x10% _(B) 151x mu
() 15.1 x 101? (D) L15x%10
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There are 6() questio

92.

.,

94.

95.

(79)
SECTmN ~1V(b), qvE_qy - Y
SOCIAL STUDIES /At

ns in all in thig section ;
must answer alf the qestion. . The candidates v,

WW‘*%“M#WMW#QWW
91.

mfwtaﬂxﬂmm Ham ¢ |
A candidate get elected for the office of Rajya Sabha muyst be
(A) 25 years o] (B) 35 years old
ir"i;q 0 years olq (D) 21 years olq
wwmqﬁw#mmﬁaﬁwsﬁraﬁq
(A) 25 @ (B) 35 3
(C) 307 (D) 21 7

(B) Chandra Shekhar
(C) Cﬁnudhary Charan Singh (D) Morarji Desai

“m44ﬁmmﬁmfﬂfaaﬂﬁh1:ﬁmdﬁ#mﬁh:mm?
(A) 3=z (B) Wy

(C) =it wofige (D) " wrymett &

Who was that Supreme Court Judge against whom the process of impeachment was
Started but he eould not be impeached ?

(A) K.G.Balkrishna (B)

C) Somitra 8 (D

;a%a;ln;m:rla:mmwwnﬁwﬁ wmﬁ;u}nmaxmﬁnéﬂhq
TR U 3 & e

(A) Ff. Fero (B) d. et

(C) difg d= (D) @ AR

Twelfth Schedule of Indian Constitution deals wil[}
(A) Panchayati Raj System (B) Nagarpalikas

‘ ion- lations
C) Languages of Union (D) Union-State Re
Emi?ﬁu Gferwr it aRedt srfHdE! Wt -
(A) gl T @ (B) qrmri%ﬁ:rm :
(C) &% il amrar 4 (D) FHT9
Who was that Vice President who died du‘}ir‘:fg l(l:.:}ﬁ ritenure?
(A) Dr. Radhakrishnan }IE;]] K;'isi'makant
(C) B.D.Jati e ﬂ;ﬁh‘ﬁ‘@n :
JETre o forgeR 3T 3 P
anfl'-rvm | () dtat it
(A) = TEFEIH =

(C) aitgh s P.T.0.
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96.

97.

98.

100.

Th g
€ percentage of total land areq of the earth is
(A) 320
B
© 0 D) 24
T 1 o1 el sty wferere & |
(A) 32.0
B) 30.
© 290 :D; 2: i
The lowest layer of atmosphere is
(A)  Stratosphere (B)  Troposphere
(C)  lonosphere (D) Ozonosphere
TYHUEH i TR Freeht wa &
(A) WHA quee (B) @hmvge
(C) sgTvem (D) siFiAvSH

A common term used for all the exogenic geomorphic processes is
(A) Diastrophism (B)~ Weathering
(C) Carbonation (D) Denudation

it afsiferes sl wfena & fo v W Y onel &, g
(A) ew-fawgo aﬁaﬂ
(C) wEHYT )

The cyclic flow of chemical elements between organism and environment in biosphere is

known as
(A) Gaseous cycle (B) Biogeochemical cycle

(C) Water cycle (D) Geomorphic cycle
g qUEH § SHia 71 YaieR & e TR dvl & T VT & S S g

(A) 7T o (B) ta q.qraraf Tk
(C) =icT =R (D) g3 O
Which one of the following is not a metamorphic rock ?
(A) Limestone (B) Marble
(C) Quartzite (D) Slate
fpafefaa & @ @ o T BRI I T E 2
(A) T g8 (B) WTHTH

(D) ®E&

(C) ¥R
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101. On which objects the inscripti v
chiefly found ? riptions of Harappan Culture (Indus Valley Civilization) are
fhy BN (B) Seals

(C) Pillars (D) Copper Plates

Feu "ahha (Fay widt ) & aAfieie Jeua: e awg W et €9
(A) Toretrat o2 (B) TR

(C) it uT (D) W W& W

102. The central place of Aryan Culture during Later Vedic Age was
(A) Sapt-Saindhav Pradesh (B) Daab of Ganga-Yamuna

(C) Magadh (D) Deccan

Fe Afes et o I GBS FEE e 9

(A) T FHE W (B) TII-AHAT E1EE
(C) HMN (D) T

103. The author of the famous book entitled *Bharat ke Prachin Nagaron ka Patan’ (Urban
Decay indndia : 300 AD = 1000 AD) s
(A) Radha Kumud Mukerjee i a
(C)y D.D. Koshambi (D) Ram Sharan Sharma

e % WA A @1 g (Urban Decay in India : 300 AD — 1000 AD) 7 FfEg 7&E
FAEFE

(A) THIER TE (B) PN T
(C) @2 wwE (D) R I
104. When ‘Hindu Married women's Right to Separate Residence and Maintenance Act’ was
enacted ?
(A) 1955 (B) 1956
© 1946 (D) 1977
g e ﬁﬂmﬁamqém.ﬁNWﬁmﬁﬁﬂ?
(A) 1955 (B) 1956
(D) 1977
(C) 1946 P.T.0.
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106.

107.

108.

109.

(82)
The year of 1856 was signi i 1 1 1
(A) Hindu Widow Refa;ﬁ::::mm:;lzmﬂndlm S
(B) An Act against female infanticide was passed
(C)  An Act against Sati System was passed. |
(D)  An Act against Witch-hunting was passed,
I T % e i 1856 &1 o el fae gan waife
(A) T fawar Jtae sty afi gar |
(B) %= 9w % favg sifufran whe gar |
(C) el v & Towg atfifem ofim g2 |
(D) =1 won % fawg arfuferam wifte gam |

Which period in Indian History has been attributed as *Classic Age’?

ST-2

(A) The age of Guptas (B) The age of Kushans
(C) The age of Maurayans (D) The age of Mughals
A gfewr o sivg g fag wrer % fo wge we g0

(A) et (B) T wrer

(C) 4 e (D) 7T e

Under which dynasty the great sculpture o Bahubali situated-at Shravanbelgola was built ?
(A) Hoyasalas (B) Gangs

(C) Rashtrakutas (D) Chaluky
syEUTeTIer e sgare @ HE ﬂ ﬂﬂam?
(A) FEHE

(€) TgF (B) PN

The author of ‘Indica’ is
(A) Kautilya (B) Megasthenes
(D) Vishnugupta

(C) Phiny

frgehr @ AEH &

(A) Feea (B) e
) fert (D) fowprs

Who built the ‘Vishnu Temple’ of Angkorvat situated in Kambuj ?
(A) Suryaverma l (B) Jaiverma IV

(C) Suryaverma Il (D) Yashoverma II1

srapet feera SiTRRETE 1 {997 Tt fee a9 ?

(A) a1 (B) wwEEHl IV

(C) ¥damtll (D) Firaw 1l

il el i L) |

ke

I [
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110. In which major Rock Edict of the emperor Ashoka, we find the description of neighbour
countries ?
(A) First (B) Fifth
(C) FEighth (D) Thirteenth
w319 & g geg ferenera & ggrd 3w @ vt & 0
(A) WoH (B) dam
(C) 3meq (D) Rgaf
111, Which of the following Novel of Rabindranath Tagore has the main character Nikhil, who
believes more in *humanity’ than patriotism ?
(A) Shesher Kabita (B) Gora
(C) Yogayog (D) Ghare Baire
e 2R % fea v & g e fHiee 2 o demfe & gt wEar 1 fervara TEe 8 ?
(A) 96T Ffam (B) T
(C) @ (D) wWamt
112. Hindustan Ghadar Party was founded in the year
(A) 1916 (B) 1925
() 1913 (D)...1922
fega e Wit At #Te o @ e
(A) 1916 (B) 1925
(C) 1913 (D) 1922
113. Diraham is add a
(A) Coinof Gold (B
(C) Coin of Silver (D) Coin of Alloy
fawen &
(A) HH e (B) diral &1 e
(C) i e faat (D) fafaer ur 1 ot
114. The last expedition of Shershah Suri was against the ruler of }
(A) Kalinjar (B) Marwar {
(C) Ranthambore (D) Malwa 1
mq&'ﬂmaﬁaﬂmmﬁﬂifaﬁm? i
(A) HIfeTAT (B) HRETS
(C) TR (D) A

115. Under which Act the Sati system was banned in Bengal with the efforts of Raja Ram

Mohan Roy ? |
(A) Regulation XVII AD 1829 (B) Regulation J'E?(XADDI 83 l-:;

C) Regulation XVIII AD 1856 (D) Regulation XIX AD 182
E{mmmgﬁnﬂﬁiwﬁ#ﬁﬁmﬁumaﬁﬁmaﬁiﬁwﬁimmmmw?
(A) o XVILAD 1829 (B) fr@m XX AD 1831
(C) Frmw XVIIIAD 1856 (D) s XIX AD 1829

P.T.O.
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+ In which year the Amendment in Indian Constitution regarding Preamble was made ?

(A) 1975
(C) 1978 E[BJ.; :3;2
WA Hferrt 5t weraen § weiv g ad F gan 2
(A) 1975 (B) 1976
(C) 1978 (D) 1992
117. The Constitution Amendment which is related to Right to Education IS
(A) 42™ Amendment (B) 52™ Amendment
(C) 61" Amendment (D) 86" Amendment
g% HawTE e ot feen & afusr § Tatud &
(A) 4291 doaa (B) s2@t g .
(C) 6181 | (D) 86aT Hemed

118. On the basis of which Committee’s recommendations the fundamental duties have been

incorporated in Indian Constitution ?
(A) Sardar Sawaran Singh Committee
(B) Ashok Mehta Committee

(C) Sadig Ali Committee

(D) Hegde Committee

o it < PRIt 1 ST HTC wree, A e el s 14 2
(A) wER @i fae aiEfa

(B) viies sHean dfiffa
(C) wifess et wfafd
(D) wmg afafa a a

Government of India appointed Kaka Kalelkar the Chairman of the Commission for other

119.
Backward class. The year of appointment was
(A) 1951 (B) 1953
(C) 1955 (D) 1957
mm#mmﬁaﬁﬁmﬁwaﬂmwmﬁqﬁﬁmhﬁmﬁm a
(A) 1951 (B) 1953
(C) 1955 (D) 1957

120. In the Constitution of India secularism means
(A) State has its own religion. .
(B) State has no link with religion. i
(C) State has no religion of its own. '
(D) State recognizes all the religions but has no its own religion.

e & dfagE  a-Frtar # oY ®
(A) T & AGEEHE |
(B) TG % vd | HHE @ T T |

(C) TG &1 3191 Hif wd T ¥ |
(D) TG Wt wnt @ AT 3T € W S He HE o T AAME |
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s:l-z To which age d . Y
: ch age ot
1 A Gu agﬁpfgg; ;lrle artistic Spler}tllac;ur %iAhl?anm and Rajoregarh belong ?

(C) Guhil-Sisodiya (D) R;]:Iﬂ;n

TR T WARITE F FeAeds ave few w e £ 0

(A) TR (B) ww

122. S:cial Studies is supposed to study
(A) Economical relations of man.(B) Politic i
! : g ' -al relations of man.
EC] Social relations of man, (D) Social geographical relations of man.
AT 3T 3T A E
(A) = & afas gl &1 (B) =i % Torifas g &
(C) =afaw & Wit @i #1 (D) =6 & grafoms-sinifees gl &

123. The cnn-:f:pt of Social Studies “The Social Studies are those studies that provide
unc!e:rs:andang of man’s way of living, of the basic needs of a man and the activities in
which he engages to meet his need and, of the institutional he has developed” is given by
(A) Wesley . (B) John Michaelis
(C) M.P. Moftat (D) Encyclopaedia of Education Research
TS HETH % FHEd H g SEaA aF WA & S WAE e & @A-He & @,
wmwmaﬁ fapnati, foerd wEE AU avIEATSl # ofa & fo e @ & e
il T 36 fam AT &, S e s & o e g g
(A) @ (B) sii shEshiemt

(C) TR, AH (D) UETEERTITEAT 3% e e

124. The fact which is studied under the area of Sgeial Studies 7
|| (A) Study of Social relations {
. (C) Education of Citizenship  (P¥ n ave
| TR 3EA A $ F=ag e F4] e T 3N
(A) T il AEE (B) WFErg Tl
(C) AT i fen (D)
125. The teacher of Social Studies is expected to keep in mind the following fact is natural :
(A) Clear vision in the relation of specific facts and thing.
(B) Concept of general fact or qualities.
(C) Establishment of fact. rule, definition, knowledge and method.
(D) All ofthe above. .
qmﬁﬁm%mmﬁméﬁmﬁnﬁﬁhﬂ-ﬁqﬂwﬁﬂ Iytey TEA EIE & ?
(A) ﬁﬁwwﬁﬂmaﬁﬂsmﬁmﬁw
(B) @M Ual ol it i SR

(D) Fwg Al

126. How much portion of timil g
1 ies during a period
social studies dunng a p pg— siperentt

hould be given to the statement-guidance while teaching

- B) 60 percent ]
%ﬁE%M%WW mwmﬁﬁmmm%wﬁhﬁ
o T =@1el ?

() soufawd (D) 20 wfcer

P.T.O.
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127. Evaluation IS a process of " o
(A) Determining the extent of the achievement of objectives,
(B) Ascertaining the qQuality, valye of outcomes,
(€)  Comparing the Outcomes of instruction,
(D) Al of the above,
A1 % gy
(A)  3ewa % ety 3 frere oy fepufor
(B) ot = oreren & st 57 ey ey
(©) 33 % ol % e s
(D) I it
128. The use of teaching leaming material in Social Science do
(A) Makes the lesson len gthy,
(B) Students get bored.
(C) Both the above statements are wron;
(D) Both the above statements a
I S fewaor  foreqor s |HH! 7 g -
(A) U Fr Fa d
(B) ®H I &R E |
(C) 39 2l % armeg § |
(D) 3% <l o (A) 3R (B) T ¥ |
129. Which Scientist gave the behavioural form of Project methods in education system first of
all ?
i eway (B) Dr. W.H. Kilpatrick
(C) Stevenson (D) None of the abgye
mﬁﬁﬁmmm#mmWWWM?
W (B) 3. T, ey

s ) wwd
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130.

131.

132,

(87)
Match the following :

.  B.S. Bloom
2. Herbert
3. Monson
4.  Hunt
|
(A) d
(B) b
(C) a
(D) d
. 90 &m a.  HeUEA AW
Fee b. wgfaww
i C. N W
FUE d.  fesawr

Evaluation dimension
Memory level
Undmtnnding level

. Reflective level

en oe

O o oL M
B O B oW

L= = T o T - - S

B 19

(A)
(B)
(©)
(D)

The three stages of evaluation'dimension are
. Detepmination of Edueational olsjegtiv
. Providing leamning experiences a

Evaluation of Behavioural changes

The above stages are given by

(A) B.S. Bloom (B) Herben
(C) Skinner (D) Thomdike

egiEA AW & 7 i w9 e

|, vifus Fva w5 i e

2. iy & FIE WS

3. emeRr a1 qedisd

wmﬁmﬁﬁwmﬁﬂmﬁmﬁﬂﬁfi?
(B)

Bl B O O
5 I = VO o T

BNE B e L
oan B L

| £ r—-

L

(A) @UE. =H R
(C) fat (D) dEE®
Which is not an abiotic resource 7

(A) Soil (B) Rc.nck
(C) Plants (D) Minerals
F q7 3o G w8 7

(A) @& (B) wW&gH
(C) (D) @

P.T.O.
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133.

(88)
Which is not a correct statement ?
(A} Parent rock and climatic factors de
(Lf:} Humus is found in the deepest part of the soil.
(C) Altllu_di: anq slope determine accumulation of soil.
{Egélr HTT;;:;%I;I 1% X ;E minerals and organic matter make the soil fertile.

(A) 7331 P11 % v s ey vt 31 s 3R sreramfas 0 E |
(B) mam_%mﬁmaﬁmﬁwwil

(C)  I=Ew e 31 et 5w & w6 Fuifea s E

(D) =t ud stfam gandt @1 we fasror ge1 @ 9o @@ € |

termine the soil formation.

134. Among following which is the leading copper producing country in the world ?
(A)  South Africa (B) Chile
(C)  Australia (D) Ghana
Frfetaa § 3 fava @1 *19 @ dw sppoflt o saes &0
(A) =fol anrs (B) Tas
(C) e (D)
135. Which is not a@8i entional source of energy ?
(A) Geothgrmal energv (B} Petrolcum
(C) Hydel Power (D= Natural Gas

136.

137.

T I TLERNEE 59 SAEE T8 80

(A) @ 3 (B)

°& ) ddda

Which 1s not a correct match ?
Shifting Agriculture Country/Area
(A) Milpa Mexico
(B) Jhuming North-East India
(C) Roca - Hr_uzil
(D) Ladang _ - S Lanka
19 |1 guferd 7@ & 7
TTATAE H FEa
(A) fﬂ?ﬂr . wferent
(B) #f - ELtACIRNIG]
(C) ﬁm = EFrﬁ't"l
(D) @& - B
Which is the highest peak of the Peninsular India ? .
(A) Doda-Beta (B) Anai—_h‘iudl
(C) Mahendra Giri (D) Kodaikanal
wragidta e @1 wared Tt A AR
(A) S (B) AR

(©) mERT (D) IR
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138.

139.

140.

141.

142.

143.

(89)
In which part of India, arrival of Monsoon is earliest ?
(A) Kerala (B) Andman and Nicobar Islands
(C) West Bengal (D) Tamil Nadu
e & T o wE Yeel WG Wa e #
(A) w& (B) awenH 3 PR €17 T
(C) =t & (D) afwerrg
In which region of India tropical rain forest is found ?
(A) Malwa Plateau (B) Karnataka
(C) Eastern Ghats (D) North-East India
TR % fo v o e sfeadiy avie foed @ 7
(A) TS & 91 (B) #AleH
(C) yEiue (D) Iw-gdr A
Which one of the following is not a center of iron and steel industry in India ?
(A) Bangalore (B) Salem
(C) Dolvi (D) Durgapur
e ¥ Frefataa § | & 8 U -3 ST L 966
(A) SR (B) #em
(C) e (D) ggE
In India, States having highest and luwcardﬂLa1 in 2011 were
(A) Bihar and Tripura (B) st By Arunachal Pradesh
(C) Kerala and Sikkim (D) Uttar Pradesh and Mizoram
2011 3 Ffaeman 3T AT S g aTe A & 09 §
(A) faer s B (B) ufeasl @ HIT SEOTgA WL
(C) e 3w Fafary (D) Ferweer 31T fesir

Bhorat Pathar is located between

(A)- Raghunathgarh and Nahargrh (B) Achalgarh and Delwara
(C) Kumbhalgarh and Gogunda (D) Jaigarh and Nahargarh
iz %1 YR ferd &

(A) TR AR TR A (B) IS FHIT oISl & My
(C) F9eg AR M= & qeg (D) TATE 3 AR & 7o

Which of the following is not a traditional method of water conservation in Rajasthan ?

(A) Khadin (B) Tanka
(C) Toba (D) Nali
fr=fafaa o @ i W Iorm F o sie w6 fafe aw@ v
(A) @H ' (B) i
(C) an (D) et

P.T.O.



ST-2

Y (90)
144. Which is not a correct match ?
Minerals Mining area
(A) Tungsten — Degana
(B) Lead & Zinc — Rajpura-Dariba
(C) Copper ~ Singhana
(D) Mica ~ Jamsar
=t |1 e @ &7
af TAES
(A) T ~ M
(B) e st swar — gt
(C) ~ foaEn
(D) =w=w — HHET
145. Which is not a centre of chemical industry in Rajasthan ?
(A) Deedwana (B) Sawai Madhopur
(C) Kota (:1[2 Alwar
TR | &I T TEIET I6T 7 g T8l &9

(A) SaFr  (B) weWAmigE (C) @ (D) 3T

146. Which districts of Rajasthan was having more than 500 density of population in 2011 ?

(A) Jaipur - Alwar (B) Bharatpur - Dausa
(C) Jaipur - Bharatpur (D) Jaipur - Dausa

2011 5 T & i | frelt 1 500 ﬁmm e ?
(A) “OYT - SFefay (B) WX - =rEr

(C) —Ag ~ WA (D) 1EqT &t

147. The Prajamandal of which princely S : na Day” in 1936 ?
(A) Udaipur  (B) Kota ) ) hpur
fee Wiy & weimvss + 1936 € o ‘gt .

(A) FaqT (B) et (C) = (D) =g

148. In which district of Rajasthan a *“War Museum’ was established in August, 20152
(A) Sikar (B) .Iajs:almer (C) Jodhpur (D) Barmer
mm%ﬁmhﬁﬁ*wm*aﬁmm*mﬁﬁaﬁnﬁ
(A) §RR  (B) W () WWR (D) amk

149. Which Chauhan ruler was entitled as ‘Kavi Bandhay’ ?

(A) Vigraharaj IV (B) Prithviraj Chauhan []]
(C) Aranoraj (D) Ajayraj

‘Bl Ty’ T Iy 6w Sw v w5 e o 0

(A) fomgtrr aqd (B) JEi e ey
(C) aurive (D) IR

I150. To whom did Col. James Tod dedicated his travelogue ‘Travels in Western India® ?
(A) Lord William Bentinck (B) Lord Minto

(C) William Hunter Blair (D) Yati Gyanchandra
ﬁﬁﬂmﬁrﬂmwm*mHﬂm#@rﬁﬁaﬁHM?
(A) wiS faferam dfes (B) g fget

(C) faferam #=r =y (D) 3fd s

“ﬁ.——.--—-
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Online Application Fﬁrm. cmpt the questions of 1

he language which the candidate has selecred as Languape

P v 1w spendt 3

TT 1 (WL 3 e e a e & LT e amm——

In Section 111 ( Language-11) a candidate has 10 atie

" - Ih 1 H o
the Online Application Form. The Language-1l will be difres oS of the lan

b H guape which the candiday 1 w1l i
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o 13 S W e A Y T A F A F A S e i e i ) s, wr)

# fa=t gy
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e S o ok o e
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REET 2015 (FINAL KEY)
LEVEL-Il COMMON QUESTION No. 1-30

(Child Development and Pedagogy)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
1 30 22 15 C
2 25 23 16 A
3 26 18 17 A
4 27 19 12 B
5 28 20 13 B
6 29 21 14 A
7 7 29 22 C
8 1 30 23 B
9 2 24 24 C
10 3 25 18 C
11 4 26 19 A
12 5 27 20 D
13 6 28 21 B
14 13 5 28 B
15 8 6 29 D
16 9 1 30 B
17 10 2 25 C
18 11 3 26 A
19 12 4 27 B

20 19 11 4 B
21 14 12 5 BONUS
22 15 7 6 B
23 16 8 1 D
24 17 9 2 B
25 18 10 3 B
26 24 16 9 B
27 20 17 10 C
28 21 13 11 D
29 22 14 7 C
30 23 15 8 B




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)

LEVEL-Il LANG-1 SANSKRIT (31-60)

LEVEL-Il LANG-1 GUJRATI (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 A
32 50 42 37 D
33 51 43 38 B
34 52 44 39 D
35 53 45 40 C
36 54 46 41 D
37 55 47 42 A
38 56 48 43 C
39 57 49 44 B
40 58 50 45 D
41 59 51 46 BONUS
42 60 52 47 C
43 31 53 48 A
44 32 54 49 C
45 33 55 50 D
46 34 56 51 B
a7 35 57 52 D
48 36 58 53 D
49 37 59 54 B
50 38 60 55 D
51 39 31 56 B
52 40 32 57 C
53 41 33 58 A
54 42 34 59 D
55 43 35 60 D
56 44 36 31 B
57 45 37 32 A
58 46 38 33 C
59 a7 39 34 B
60 48 40 35 D

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
31 49 41 36 B
32 50 42 37 B
33 51 43 38 B
34 52 44 39 C
35 53 45 40 A
36 54 46 41 A
37 55 47 42 D
38 56 48 43 D
39 57 49 44 C
40 58 50 45 A
41 59 51 46 B
42 60 52 47 A
43 31 53 48 C
44 32 54 49 A
45 33 55 50 B
46 34 56 51 D
47 35 57 52 B
48 36 58 53 B
49 37 59 54 B
50 38 60 55 D
51 39 31 56 C
52 40 32 57 D
53 41 33 58 A
54 42 34 59 A
55 43 35 60 B
56 44 36 31 B
57 45 37 32 C
58 46 38 33 D
59 a7 39 34 B
60 48 40 35 B




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)

LEVEL-Il LANG-1 ENGLISH (31-60)

LEVEL-Il LANG-1 PUNJABI (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 BONUS
32 50 42 37 B,D
33 51 43 38 A
34 52 44 39 D
35 53 45 40 A
36 54 46 41 A
37 55 47 42 B
38 56 48 43 C
39 57 49 44 D
40 58 50 45 A
41 59 51 46 A
42 60 52 47 B
43 31 53 48 A
44 32 54 49 B
45 33 55 50 A
46 34 56 51 C
a7 35 57 52 A
48 36 58 53 B
49 37 59 54 C
50 38 60 55 B
51 39 31 56 A
52 40 32 57 B
53 41 33 58 C
54 42 34 59 D
55 43 35 60 C
56 44 36 31 B
57 45 37 32 B
58 46 38 33 B
59 a7 39 34 BONUS
60 48 40 35 D

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
31 49 41 36 D
32 50 42 37 D
33 51 43 38 A
34 52 44 39 B
35 53 45 40 A
36 54 46 41 D
37 55 47 42 C
38 56 48 43 B
39 57 49 44 C
40 58 50 45 A
41 59 51 46 A
42 60 52 47 D
43 31 53 48 D
44 32 54 49 C
45 33 55 50 B
46 34 56 51 A
47 35 57 52 B
48 36 58 53 D
49 37 59 54 C
50 38 60 55 D
51 39 31 56 A
52 40 32 57 B
53 41 33 58 D
54 42 34 59 D
55 43 35 60 B
56 44 36 31 C
57 45 37 32 A
58 46 38 33 D
59 a7 39 34 B
60 48 40 35 D




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)

LEVEL-Il LANG-1 HINDI (31-60)

LEVEL-Il LANG-1 SINDHI (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 B
32 50 42 37 A D
33 51 43 38 D
34 52 44 39 B, C
35 53 45 40 C
36 54 46 41 D
37 55 47 42 A
38 56 48 43 B
39 57 49 44 B
40 58 50 45 C
41 59 51 46 A
42 60 52 a7 C
43 31 53 48 C
44 32 54 49 B
45 33 55 50 D
46 34 56 51 BONUS
47 35 57 52 C
48 36 58 53 D
49 37 59 54 D
50 38 60 55 C
51 39 31 56 C
52 40 32 57 A
53 41 33 58 C
54 42 34 59 C
55 43 35 60 B
56 44 36 31 A
57 45 37 32 D
58 46 38 33 A
59 47 39 34 C
60 48 40 35 A

Code-W | Code-X [ Code-Y | Code-Z | ANSWER
31 49 41 36 D
32 50 42 37 C
33 51 43 38 A
34 52 44 39 D
35 53 45 40 B
36 54 46 41 A
37 55 47 42 B
38 56 48 43 C
39 57 49 44 C
40 58 50 45 D
41 59 51 46 B
42 60 52 a7 D
43 31 53 48 C
44 32 54 49 C
45 33 55 50 B
46 34 56 51 A
47 35 57 52 A
48 36 58 53 B
49 37 59 54 C
50 38 60 55 D
51 39 31 56 B
52 40 32 57 B
53 41 33 58 C
54 42 34 59 D
55 43 35 60 B
56 44 36 31 B
57 45 37 32 A
58 46 38 33 A
59 47 39 34 B
60 48 40 35 C




REET 2015 FINAL KEY (LEVEL-1l LANGUAGE-1)
LEVEL-Il LANG-1 URDU (31-60)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
31 49 41 36 D
32 50 42 37 A
33 51 43 38 B
34 52 44 39 A
35 53 45 40 C
36 54 46 41 A
37 55 47 42 C
38 56 48 43 A
39 57 49 44 B
40 58 50 45 C
41 59 51 46 A
42 60 52 47 A
43 31 53 48 B
44 32 54 49 A
45 33 55 50 B
46 34 56 51 B
a7 35 57 52 A
48 36 58 53 C
49 37 59 54 A
50 38 60 55 B, C
51 39 31 56 A
52 40 32 57 A
53 41 33 58 C
54 42 34 59 A
55 43 35 60 A
56 44 36 31 C
57 45 37 32 A
58 46 38 33 B
59 a7 39 34 A
60 48 40 35 B




REET 2015 REVISED KEY (LEVEL-1l LANGUAGE-2)

LEVEL-Il LANG-2 HINDI (61-90)

LEVEL-Il LANG-2 SINDHI (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 B
63 88 83 68 D
64 89 84 69 A
65 90 85 70 B
66 61 86 71 B
67 62 87 72 D
68 63 88 73 C
69 64 89 74 BONUS
70 65 90 75 B
71 66 61 76 A
72 67 62 77 BONUS
73 68 63 78 B
74 69 64 79 B
75 70 65 80 C
76 71 66 81 B
77 72 67 82 C
78 73 68 83 C
79 74 69 84 A
80 75 70 85 D
81 76 71 86 A B
82 77 72 87 C
83 78 73 88 C
84 79 74 89 B
85 80 75 90 C
86 81 76 61 B
87 82 77 62 C
88 83 78 63 D
89 84 79 64 B
90 85 80 65 A

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 C
63 88 83 68 B
64 89 84 69 B
65 90 85 70 A
66 61 86 71 B
67 62 87 72 C
68 63 88 73 C
69 64 89 74 C
70 65 90 75 A
71 66 61 76 C
72 67 62 77 C
73 68 63 78 C
74 69 64 79 B
75 70 65 80 A
76 71 66 81 B
77 72 67 82 A
78 78 68 83 D
79 74 69 84 D
80 75 70 85 B
81 76 71 86 C
82 77 72 87 B
83 78 73 88 B
84 79 74 89 C
85 80 75 90 D
86 81 76 61 A
87 82 77 62 B
88 83 78 63 D
89 84 79 64 C
90 85 80 65 D




LEVEL-Il LANG-2 ENGLISH (61-90)

LEVEL-Il LANG-2 PUNJABI (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 B
63 88 83 68 BONUS
64 89 84 69 B
65 90 85 70 C
66 61 86 71 D
67 62 87 72 C
68 63 88 73 B
69 64 89 74 C
70 65 90 75 B
71 66 61 76 D
72 67 62 77 D
73 68 63 78 D
74 69 64 79 C
75 70 65 80 A
76 71 66 81 D
77 72 67 82 B
78 73 68 83 C
79 74 69 84 C
80 75 70 85 B
81 76 71 86 D
82 77 72 87 C
83 78 73 88 A
84 79 74 89 C
85 80 75 90 A
86 81 76 61 C
87 82 77 62 B
88 83 78 63 C
89 84 79 64 C
90 85 80 65 C

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
61 86 81 66 C
62 87 82 67 B
63 88 83 68 B
64 89 84 69 C
65 90 85 70 D
66 61 86 71 B
67 62 87 72 A
68 63 88 73 D
69 64 89 74 C
70 65 90 75 B
71 66 61 76 A
72 67 62 77 B
73 68 63 78 B
74 69 64 79 C
75 70 65 80 D
76 71 66 81 D
77 72 67 82 C
78 73 68 83 D
79 74 69 84 C
80 75 70 85 A
81 76 71 86 D
82 77 72 87 A
83 78 73 88 D
84 79 74 89 C
85 80 75 90 D
86 81 76 61 C
87 82 77 62 D
88 83 78 63 B
89 84 79 64 B
90 85 80 65 D




LEVEL-Il LANG-2 SANSKRIT (61-90)

LEVEL-Il LANG-2 GUJRATI (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 C
62 87 82 67 B
63 88 83 68 C
64 89 84 69 A C
65 90 85 70 B
66 61 86 71 C
67 62 87 72 A
68 63 88 73 B
69 64 89 74 A
70 65 90 75 C
71 66 61 76 A
72 67 62 77 D
73 68 63 78 C
74 69 64 79 B
75 70 65 80 A
76 71 66 81 A
77 72 67 82 A D
78 73 68 83 C
79 74 69 84 B
80 75 70 85 D
81 76 71 86 C
82 77 72 87 A
83 78 73 88 C
84 79 74 89 C
85 80 75 90 C
86 81 76 61 B
87 82 77 62 D
88 83 78 63 D
89 84 79 64 A
90 85 80 65 D

Code-W | Code-X [ Code-Y| Code-Z | ANSWER
61 86 81 66 A
62 87 82 67 C
63 88 83 68 B
64 89 84 69 D
65 90 85 70 A
66 61 86 71 B
67 62 87 72 B
68 63 88 73 B
69 64 89 74 A
70 65 90 75 D
71 66 61 76 B
72 67 62 77 A
73 68 63 78 C
74 69 64 79 D
75 70 65 80 B
76 71 66 81 A,D
77 72 67 82 D
78 73 68 83 B
79 74 69 84 D
80 75 70 85 D
81 76 71 86 B
82 77 72 87 D
83 78 73 88 C
84 79 74 89 D
85 80 75 90 A
86 81 76 61 B
87 82 77 62 C
88 83 78 63 A
89 84 79 64 C
90 85 80 65 D




LEVEL-Il LANG-2 URDU (61-90)

Code-W | Code-X | Code-Y | Code-Z | ANSWER
61 86 81 66 B
62 87 82 67 A C
63 88 83 68 B
64 89 84 69 D
65 90 85 70 A C
66 61 86 71 D
67 62 87 72 D
68 63 88 73 A
69 64 89 74 B
70 65 90 75 D
71 66 61 76 D
72 67 62 77 C
73 68 63 78 B
74 69 64 79 D
75 70 65 80 C
76 71 66 81 A
77 72 67 82 D
78 73 68 83 A
79 74 69 84 B
80 75 70 85 B
81 76 71 86 A
82 77 72 87 B
83 78 73 88 BONUS
84 79 74 89 D
85 80 75 90 C
86 81 76 61 A
87 82 77 62 B
88 83 78 63 C
89 84 79 64 D
90 85 80 65 D




REET 2015 (FINAL KEY)
LEVEL-Il QUESTION No. 91-150

LEVEL-Il MATHEMATICS & SCIENCE LEVEL-1l SOCIAL STUDIES

Code-W [ Code-X | Code-Y | Code-Z [ ANSWER Code-W | Code-X | Code-Y | Code-Z | ANSWER
91 114 109 104 B 91 114 109 104 C
92 115 110 105 A 92 115 110 105 D
93 116 111 106 C 93 116 111 106 D
94 117 112 107 B 94 117 112 107 C
95 118 113 108 D 95 118 113 108 B, C
96 119 114 109 A 96 119 114 109 A
97 120 115 110 A 97 120 115 110 A
98 91 116 111 D 98 91 116 111 B
99 92 117 112 D 99 92 117 112 D
100 93 118 113 C 100 93 118 113 A
101 94 119 114 C 101 94 119 114 B
102 95 120 115 BONUS 102 95 120 115 D
103 96 91 116 A 103 96 91 116 C
104 97 92 117 BONUS 104 97 92 117 D
105 98 93 118 D 105 98 93 118 B
106 99 94 119 D 106 99 94 119 B
107 100 95 120 B 107 100 95 120 D
108 101 96 91 C 108 101 96 91 C
109 102 97 92 D 109 102 97 92 B
110 103 98 93 D 110 103 98 93 D
111 104 99 94 D 111 104 99 94 B
112 105 100 95 C 112 105 100 95 A
113 106 101 96 C 113 106 101 96 B
114 107 102 97 B 114 107 102 97 B
115 108 103 98 A 115 108 103 98 D
116 109 104 99 A 116 109 104 99 C
117 110 105 100 B 117 110 105 100 A
118 111 106 101 B 118 111 106 101 A
119 112 107 102 A 119 112 107 102 B
120 113 108 103 D 120 113 108 103 B
121 145 138 133 B 121 145 138 133 B
122 146 139 134 ¢ 122 146 139 134 D
123 147 140 135 D 123 147 140 135 A
124 148 141 136 A 124 148 141 136 BONUS
125 149 142 137 D 125 149 142 137 C
126 150 143 138 C 126 150 143 138 D
127 121 144 139 D 127 121 144 139 D
128 122 145 140 B 128 122 145 140 B
129 123 146 141 A 129 123 146 141 C
130 124 147 142 BONUS 130 124 147 142 D
131 125 148 143 C 131 125 148 143 B
132 126 149 144 BONUS 132 126 149 144 A
133 127 150 145 B 133 127 150 145 BONUS
134 128 121 146 A 134 128 121 146 A
135 129 122 147 B 135 129 122 147 BONUS
136 130 123 148 B,C 136 130 123 148 D
137 131 124 149 B 137 131 124 149 D
138 132 125 150 D 138 132 125 150 D
139 133 126 121 C 139 133 126 121 BONUS
140 134 127 122 B 140 134 127 122 D
141 135 128 123 B 141 135 128 123 C
142 136 129 124 C 142 136 129 124 B
143 137 130 125 B 143 137 130 125 C
144 138 131 126 C 144 138 131 126 A
145 139 132 127 A 145 139 132 127 C
146 140 133 128 A 146 140 133 128 B
147 141 134 129 BONUS 147 141 134 129 B
148 142 135 130 B 148 142 135 130 A
149 143 136 131 D 149 143 136 131 D
150 144 137 132 A 150 144 137 132 B
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